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ACCOUNTING AND FINANCE
Paper- 11 : Business Statistics

Time : Three Hours M.M. : 100
Part-A (Compulsary) [30 Marks]

snr- 31 (A )
Q1 'Statistics is both, the Science and the Art'. Explain. 31

+ gificren e gd fA el § 1 FE RN

02 _ | class interval series from the mid-values given below: [3]
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ﬁ%&qnqnw—qﬁhﬁwm o FAFT:

Md-values (&m-) 5 10 20 40 100

Frequcncy (smgfa) : 3 |- 8 12 10 |7

Q3. Differentiate between weightage and frequency. (3]
. MR 99T giE % e I At

Q4. The monthly profit and loss for 5 months of a firm is as under.

L

Calculate

Range and its co-efficient. [3]

TE w5 WIE T WS ™ a1 T e yan R, 19 fasr ad
wmﬁuﬁmaﬁﬁq

Months (¥TE) B Jan | Feb |March |April | May
Profit & Loss(¥my/ &1f1) 500 | 200 | -1400| 1800 | -100
Q.5. Give the formulae of Fisher's Ideal Index Number . ‘ [3]
' fewR & oTeY gawie F1 g3
Q.6. With the help of following data, calculate the Rank coefficient of
correlation: | _ [3]
fie el F1 HETAT A FHA TEEEY U H IR R
S.No. 111 2] 314] 5] 6| 7| 8] 9]10
Rank | _
. IDifferences @) :| -4].-2] +3]-1] 0f+2 ?2 1+31-2|+3
Q7. Find out Consumer's Price Index Numbers : | o 3]
i gyl oA YEHi I I o
~ | Groups Indices Expenditure
Food - 550 | 46%
Clothing 215 10%
Others 220 44%
Q8. Explainthe difference between Additive Model and Multiplicative
Model. 3]
Apmeas Teel a9 Ot ﬁi:af H 3 wqE Ffe|
Q9.  What do you mean by Statistical Quality Control. 3]

. it e frixo & 3w e € ?
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Q.10.  Find out estimated price for the year 2016 (By least square method

of time series). 3]
o 2016 ¥ o ST e T FIY (i it &1 =g o0 fafa
_S1) ) |
|Year (=) . | 2011 | 2012 | 2013 2014 | 2015
ice(Rs.) (&) : | 83 92 71 90 169
W Eif) '

Part-B (Compulsary)
w-w ( AfE )

Q.11.  If Karl Pearson's co-efficient of skewness of a series is 0.4. Its Standard
Deviation is 8 and Mean is 30, find out the Mode and Median of the
distribution. - 5]
o Soft 1 e T w1 o s 0.4, g YA faer 8 e
e 30 &, S %) HEAH! T AEAH I HICL

Q.12. Meanof 100items is 48 and standard deviation is 4. Find the sum of

itemns and also the sum of squares of the items. [5]
100 SEGT 1 AT 48 o1 g e 4 ¥ | ag et A e et
3 il 1 A 914 R |
Q.13. Findout co-efficient of correlation between density and death rate
of population from the following data : | [5]
Y fag 7MY AiFS & SEEN ¥ T Al g T Al Wewad
T[T Fd B
Districts Areain Population in | No. of deaths
Square km. thousands
A 120 24 288
B 150 75 1125
C 80 48 768
D 50 40 720
Q14 The following table gives the average monthly salary of a teaches
" and the general index of prices during the last 9 years : 5

p—_— Wgﬂﬁm@mﬁiaﬂmmaﬂﬂm
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ST 7 s e e e 8

Year 2007|2008 2009 2010|2011 2012| 2013} 201412015
General |

Indeix of {100 | 104 | 115 160 | 250 | 290] 300| 320| 330
Prices:

Find out the real average monthly Salary and the Salary index with
2007 as base.

aﬁzmwﬁwmﬁaamﬁmﬁmmméﬂﬁm%w
A HifS | . ]

Interpolate the missing figures in the following table : [5]
=1 arferent F 319 ST St STRIROMT ST
X: | 2009 [ 2010 | 2011 | 2012 2013 | 2014| 2019
Y: | 1331 ] 1728 | 2197 | 2 | 3375 | 4096] 4913
Part-C/ WTT-9
Unit-l/ 3a&TE-1

Define statistics and discuss its scope and limitations. [15]
gifers 1 IR FIT ) 39% &F o el 1 faasm sifaw)

©  OR(3wmar)
Following data relates to income of the employees of a concern in

two different years: [15]
ﬁwmﬂw—mﬂﬁﬁ@m%mﬁﬁ#mﬁ

graifya €:

Income No. of Employees

In Rs. Year 2014 Year 2015
100-200 10 15
200 - 15 30
300 20 45
400 - 25 50
500 and above 20 35
600 and above 10 25

The total income of 10 employees in the last group is Rs. 8, 000 in
the year 2014 and income of 25 employees in the last group is Rs.
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20,000 in the year 2015.
@) Find out the total income of all employees in the year 2014
and 2015.

(b) Ascertain the range of income within which middle 50% of
the employees fall in the year 2014.

© Find the median income for both the years. ‘

a 2014 ¥ 3R TR 3 10 HH=RET F Fe 317 8,000 T. & AW

2015 & iR TE 3 FH=IRE 1 F 379 20,000 . T |

(a) ¥ 2014 g ad 2015 F el Rl F g ST T HH)

(F) aﬁzomﬁ'mﬂmmaﬁﬁmﬁaﬁ-m#smm

IRE
(@) ol ¥ foe weeR st 6wl
| Unit-I/3HE-I1 |
The following data about the Sales and Advertisement expenditure
of afirmis given: | [15]
w7 9 et g o A F AR A fip T femman @
Sales Advertisement
(Rs. Lakhs) Expenses (Rs. Lakhs)
Mean _ 40 6
Standard Deviation 10 L5
Coeffieicnet of Correlation =+0.90

(@) Estimate the likely sales for a proposed advertisement
expenditure of Rs. 10 Lakhs. |

®) What should be the advertisement budget if company wants
to attain a sales target of Rs. 60 lakhs?

() 1omm$mﬁaﬁwm%ﬁﬁzmﬁaﬁaﬁm

Fifaq |
() ﬁmﬁeoaﬁ@ﬁﬁﬁmwmma@%ﬁh

. fyEIeT A2 41 9T ?
OR( 319ar)

Differenciate between correlation and regression? Describe the utility

of regression. [15]

Unit- T/ F-100

v
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Ql18. (a) Arithmetic Progressions are given below : [15]
(1) 3 +1+§+ ....................... (Find out 12* term).
(STEEi T IE F)
(i1) ~3-14+143 eeceeveevevneene... (Find out 13%* term).
(dTE W I FIY)
(i)  2V3+3V3+4V3 . (Find out 7* term).
(Wt 92 {1 HIf)
(b) Geomatric Progressions are given below :
Fretferfara Toirer Aiforai & #:
() 3+6412424 .. (Find out 9* term).
| (741 7 9@ =)
(i1) 16424436424 ....................... (Find out 5* term).
(vl 98 91 HY)
(i)  0.340.0640.012....................... (Find out 6" term).
| | (B3 T2 I FRTT)
(O = Find out Arithmetic Progression if 7* term is 21 and 11%
termis 33. - [15]
© R o 919 i, afE wieai 98 21 G TIREEi 9K 33
OR( 39ar) -

.18 What is time series? Explain the components of a time series. [15]

F1eT Sroit a1 & 2 % o & fafim Geeel #t srem S

moa*au![uonummmy:dlb

http://www.rtuonline.com



